
These questions are based on  in . The solutions can be found by learning 
on the . Each answer starts with the question’s designated letter (i.e. the answer to

the “ ” riddle begins with an “ ”, the answer to “ ” begins with a “ ”).
Answers and sources are printed on the back.

Questions
For it to be effective, both her father
and her husband need to erase her 

 was punished because they got
involved in this kind of quarrel (double
answer)

She is too old to have her  erased
by her father

Job of  against  (double answer)

When  became angry he forgot
these  (double answer)

These people were taught the laws of
 first

 wonders what  does with
the two words that are this to 

In every generation this is blamed on
the 

 requires one expert or three
of these

Half-brother of 

This phrase from later in the  is
quoted to help define the word 

Two of these came from 

 said that  hates this First this was used to cause  to fall
from the air, then it was used to decide
which  women should be killed

This must be removed from a  before
doing 

Some opinions hold that these of 
are not 

Even vessels made of horns, bones, and
these need to be purified

The word “ ” at the end of the  is
uniquely this

This person built cities and named them
for himself because he didn't have 

Utensil used for roasting

This  caused  to make a
mistake

The phrase beginning with the word
“ ” was said by  using this
kind of expression



Answers
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